3:"35' A9/ Model Question Paper
aﬂ‘iﬁm i@’i—aﬁ / Vedabhushan Fourth Year
a9 / Year 2022-23

fore - T

H&! foed & |MA (') 798 a91EY/ Mark (v') against the correct option 10x2=20
9.1 IR 14 QA2 | O I B Fi EnT |

The diameter of the circle is 14 cm. then the radius will be -

(3 14 ) 21

@ 7 @ FHARR
9.2 FEIEP(x) = 2 + 1 H xEH IO & |

The coefficient of x* in the polynomial P(x) = 2x* + 1 is

@) X @ 2

@ 23 +1 (@) TG RRE A
9.3 2°x2° & A &R | The value of 2° x 2° will be.

(@) 27 @ 27

@ 2° @ 2

4 fqUImaAiEe1,1,2,3,1,1, 3 R TESHE |

The mode of givendata1,1,2,3,1,1, 3 is-

3 1 & 2

@ 3 (@) 9 G T
9.5 WgYE P(x) = X + 3 & IAF & |

A zero of polynomial P(x) = x + 3 will be -

) 1 @ 2

® -3 @ 4
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9.6 al a0 dIc! LA GHIHUT I 9% &9 &7 |

A general form of linear equation in two variables will be-

(3) ax+by+c=0 (@) ax+c=0
@) by+c=0 (@) TH A HE T
97 X+ xFA-TATGIEE | /Which type of polynomial is x* + x .
() e g @ FrdwEw
linear polynomial cubic polynomial
@) fomd g @ IR
quadratic polynomial none of these
U8 23 [ EeH TEl Fl QT HEl H ag6- I ITed 6T |
The value obtained by converting 23 Vinkulam number into normal number
will be -
(3N 17 & 27
@) 37 (3) & A FE T

99 I % theg fohwg ST TR FT ST AT 0 FEN & |

The distance joining the center point and the circumference of a circle is

called.

(8) == (&)
Diameter

@) F= (@)
Center

o

IESR2
Radius
T4 A F 2

none of these

9.10 T -8 @& 2 | What kind of number is T -

o

(37) IHA )
Rational
(@) A 9RET & uREd @)

neither rational nor irrational

o

SHHY

irrational

394 § &S &l

none of these
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<k Tl it gid FIRTT | Fill in the blanks. 5x2=10

ERNIICE - 1 G Red® | (ST / )

The center of the circle lies in the ............ of the circle. (External /Internal)
912 V3ERITE ................... HE g | (IRET / uREa)

V3 The numberisa............. Number. (rational / irrational)
9.13 O F T GTES ............ Z1 (6% / )

914 O H TS B G EAE | (6/4)

9.15 el ST STl SR SR TR &M@ .. FESE | (5% / ITEAH)

The space occupied by a solid figure is called ......... (Area / Volume)
FE-S<t i AR | Match the correct pair. 5x2=10
9.16 TEHd 9g9g @) x=-1

quadratic polynomial
917 x+1=0 @ X +2
9.18 &1 TR AT YRk GHIHT WIERA

linear equation in two variables

919 STURHT €& () 9x+4y+1=0
irrational number

920 9RHT €@E&d ) %

rational number

9 1 3 { ™ ddi=sq, | /State true or false. 5x1=5

921 (e 921 % GRTad: RO HT @EdcHE |9 THdl Fedidi 2 |

The numerical value of the possible outcome of an event is called the

probability.
9.22 T OF GREY @ | / T is a rational number.

9.23 1% AN 3% 8 % | / The parammitra digit of 1 is 8.
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9.24 o9 %1 3D (FffE ) =1 E |
The 3D (Three dimensional figure) of a square is cube.
(T

925 Thedd &1 A E 99 § O FH A E |

Eknyunen means "one less than the previous".

@ﬁﬁw%ﬁi‘{/ Write the answer in one word. 5x1=5
9.26 FHEHUT RIS ) Hod ael YT Bid - DA 2 |
Which is the longest side of a right angled triangle.
9.27 S THE e e |
Write the formula for Bodhayan's theorem.
9.28 fol gt fosRaa |
Write the Hiron's formula.
929 el STEFTE ST o5 ST 1 A &l & |
The value of probability of an impossible event.
9.30 g H & BroaneT gRI SR T &1 T FEA & |

The area enclosed by two radii in a circle called?

HfcreseSTd T2 / Very short answer type questions 5x2=10

9.31 TEHeded JE01 G 5 IUERS i Y |
Find the product by the Eknyunen Purven formula.
214 x 9999

9.32 dg4q &l qNTHS S ®ie | Find the sum of the polynomial.
C+3)+Bx+ 3x+8)
9.33 {8 T o7®S F IRE T FINT | / Find the range of the given data.
1,2,3,4,8,1,2,3
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9.34 9 %l G FL! a1 H AW fRaw |

U.35 ag9q ! Hid i - d G TR el § |

FYIT F&/Short answer type questions

9.36

9.37

9.38

9.39

9.40

Write the name of largest chord of the circle.

Which number is not a power of a polynomial?

TAfe < T =916 10 9.1, 8, I B fhaw a4t &1 |

5x4=20

If the diameter of the circle is 10 cm. , then what will be the radius?

QRET TET FT IPERS T I, |

Find the product of the rational number.

-2
— X
3

-4

3

T ST SIqea™ H AR 7E) H eRTgaN =59 31| 56 <Ue oM g1 a3y |

In a business establishment, the expenditure incurred on various items in

the following way. Shown it by bar graph.

Hq [tem 9 (TN H)
Expenditure (in thousands)
dad salary 400
I <99 traveling expenses 100
R rent 250
39 =99 other expenses 200

Afe I Brodn 3 A.H. &, df g & IR Fd e |

If the radius of the circle is 3 cm. , then find the circumference of circle.

1

%wg%ﬁaﬁﬁq@uﬁwﬁmﬁml

) : 1 1
Find two rational numbers between > and =
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e U= / Long answer question 10x2=20
941 I g0 H A 14 A1, B, A1 I & IR T &5%S F1d Hifew |
If the diameter of the circle is 14 cm., then find the circumference and area of
circle.
942 ARCEAE R AT HEATa =10 cm, b =10 cm, c = 10 cm &, I &= T F FH0
FETHRS A HL |
If the measures of three sides of a triangle are as : a = 10 cm, b = 10 cm,

¢ = 10 cm, then find the area using Hiron's formula.

10 cm 10 cm

10 cm
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